(2 1437) Jo¥1 Juadll (21436) Gl Juasll KNP

(»1439) Gl Ladll (2 1438) W Jasll (2 1437) SWI Jasll

(Al bt t Ot goaadt bl ) 9o

3 Sl AT gD [y W=\ (] =W | PP WA (T} ‘,S\a...ﬂ ale 3alelt
3 Wi ade Alal
7 47 (21439) LI Joasll
fi 44 (2 1438) Gl Jyadll
-% 47 (2 1437) S Jyadll
3 50 (2 1437) JsY¥ Juadll
- 47 (2 1436) Sl Jiadll
3 10 Sl gl
F} J5w 245 g g-acxal!
s "
(agdolt s

goleall g/ oY pails (o s Ban | B
395 My sllac 3ayd ile (oo Alinl ®

Ple Apome: BliL A9uL ¢ ity pres ®
() Glakle deus S (o diguds @3 alll lia ™

21440/ 2 [ 13 faylh Soumd ja0

Jadalitt 4y (i uilah (e (itlS (el sl W1 (B 9 2t oM (B s (6

0544337029 ,Sladle jre s [1] a3 53 g8 .3 o ledy g Silaell ale

620LEEYYSO

<oy yxren e




(2 1437) Jo¥1 Juadll (21436) Gl Juasll KNP

(»1439) Gl Ladll (2 1438) W Jasll (2 1437) SWI Jasll

Lecture 1 39¥1 5 s loel!

1) Although both semantics and pragmatics are concerned with meaning. pragmatics is
focused more on ... ;
A. the conventional meaning Alel |l 38535 . gally pig AsbedIpdly <Yl (e US OF o0 p2)]1 Ao
B- the literal meaning Agadalt Aaalt e ST
C. the intended meaning
D. the grammatical meaning

2) (I'm hungry) if it said by a man to his co-worker. What does he actually mean?

A. that he want a money
B. that he wants to have meal with his co-worker
C. he didn't eat at all day

Tadlsdl @ g 13le . Jeadl § bl oy LI 13] (a3le L)
Jaall 8 dle) @ g J9LS sy A3

3) Language speakers can say one thing and mean another thing through

A. The usual meaning of a word or a sentence.

B. What words mean in the dictionary. e 4D e y3T Lid gagg ualy o Jo ARl il oSy
C. The meaning that a word or a sentence 3adoee 89,18 9f OB Lw 8 Alea 9l el 3959
has in specific contexts or circumstances.

D. What sentences mean without looking at the context

4) To determine the pragmatic meaning of a sentence, we need to know ..........

A. the meaning of the sentence in the Hpae J) gl « Aleml] Jledlall dall s
physical-social context Lo piy I G9! 5Lty O3yl ilae
B. the individual words and the

syntactic construction which they occur
C. the direct message of article sequence of words
D. the semantic side of the sentence

5) How can we determine literal meaning of a sentence?
A. Through the meaning of the sentence in the

physical —social context

Salozll &yl Goall dyooes LSy i€
B. Through the individual words and

lg® pay i (oot £ LidlgOn ) aall Silne IS o

syntactic construction in which they
C. Through the hidden message of a particular sequence of words
D. Through the pragmatic side of the sentence
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6)

7)

8)

9)

How can we determine the meaning of an utterance such as "I'm hungry"?
A. by looking at the meanings of the individual
words and the grammar
B. by looking at the meanings of the sentence
_plus the circumstances
C. by relating the utterance to some previous utterance
D. by relating the utterance *to the dictionary/literal

Taile L1 Jie 2elS das yuns LiSey oS
B, lal (I ABLS YL el Hlae | A JAUS e

How can you determine the meaning of an utterance, such as "I'm hungry" ?

A. through the meaning of the sentence only
B. through the individual word and the
grammatical construction in which they occur
C. through the meaning of the sentence in

§ails BT" Jie LedS e dpotons LSy i
S 3lalt et I BLS WLy Alacet! ime SIS o

addition to the physical social context
D. through the construction of words in a particular meaningful sequence

the meaning of an utterance is determined by means of ....

A. The individual words and the syntactic construction
B. the sentence in addition to the physical-social content
C. the construction of words in a particular meaningful

lextl 53,k oo aSI) Gae o ol
@ leia Wi-galell (Soiomall (I ABLON L

D. the meaning of the acutance only

Connecting one utterance to another previous utterance unconsciously is known as .
A. Prototype )

B. Gesture ks B G9s 5p5 1 Adlu AelSG Buslg el Lauy B yay

C. Collocation Lied adiye

D. Implicature

10) what is implicature?

A. two different written words that have the same

exact pronunciation Boswad! (38 (e puu § gosall byl 5o Le
B. a bridge constructed be the hearer to relate an Pttt J193W1 (a0 J193W doi Jag

utterance to a previous utterance
C. a word whose meaning included in the meaning of another general word
D. a spoken utterance which consists of more just words
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11) Sarah: would you like to go shopping tomorrow

Asma: We have guests coming from out of town B slaal uf Gpul] oladll duds da Byl

What is the meaning of this dialogue?

lgll Iia Gae 9o Lo Wil s 0 Ggesls gain

A. That Asma will go shopping with the guests 4L Bgudll calS GY Lawd &

B. That Asma will go shopping with Sarah

C. That Asma will not be to go shopping tomorrow

D. That Sarah is invited to Asma 's house

12) It can be identified as changing the stress and the falling and rising tone while

speaking. What is it?
A. Prosody

B. Implicature

C. Paralanguage

D. Gesture

Lif] Sasliaall Silly (aladi¥ly sla¥l 3 skl 451 e ousind oS
o9l ale Slia L .&uxall

13) ... is identified as change in intonation and stress while speaking

A. Non-verbal communication
B. prosody

C. prototype

D. implicature

Cousdl (ST 39illy gl § pds Gl e a9l ale syl oy

14) Which of the followings has tones that would possibly change the interpretation

of a spoken message?
A. Deixis

B. Prosody

C. Gesture

D. Maxim

SiBglaie ALy s k5 15 loid 4 b Los
w29l ale

15) In speech, meanings are communicated not only by what is said but also by how

it is said. An example of that is
A. prosody

B. prototype

C. non-verbal communication
D. implicature

0544337029 Slasle reds

b oo Ll S5 JUs Le Basbo o dad uad « lall Jas gty « oI

w29l ale ells e Jle . Joall s
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16) Laughing, giggling, and crying are examples of .........
A. gestures
B. paralanguage
C. visual signs
D. polysemy

P i &,ﬁ Sy 4.0.5.0.5.”3 el
AMEal cats

17) if laugh an example of paralanguage. A smile is example of :

A. nice paralanguage

. cadat clayf e Jln (& ludyl AUSI il e JUieS cSais 13
B. nice gesture - i

18) Paralanguage can be found when the speaker is ...

A. being vocal but not verbal N
B. being verbal but not vocal Crgiall 1 0sSs Lo fm' bz e ”“"J"’S““
C. moving his hands Ldaat gud G5ty Lge

D. moving his head

19) When a speaker is being vocal but not verbal; that is known as

A. gesture Llaat e oSy (g Gumill 095 Losie
B. paralanguage AR oo wuly syl
C. implicature

D. body language

20) All the following are examples of paralanguage except for

A. Smllln.g bk Lo elidialy OIS colir e alie] b Lo S
B. Laughing «leall ) i

C. Giggling jadsrin ciguas claiall
D. Crying_ &1

21) All the following are examples of paralanguage except for
A. Nodding
B. Laughing =l
C. Giggling jadsrin ciguas claiall
D. Crying_ &1

b Lo sl pSISIN Cilin e il b Lo JS
slaa
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22) Using body language while interacting with other is also known as ...

A. communicating via prosody

B. communicating via Paralanguage
C. communicating via Implicature

D. communicating via gesture

o3 ae Jeland! oLl dusd| 280 alaseil Uayl bya
slea¥l st Juolgdly

23) Nodding the head in response to an utterance is a visual sign that can be

equivalent to saying

A. Polysemy
B. | approve it
C.ldon't like it

D. | smell something

0955 O (San Bapsa Wle 52 AUSTI (e 1y (! el
dde Galgl B Jgall dalas

24) Pretending to yawn, with finger tips in front of mouth is a visual sign could be

equivalent to saying ...

A." | smell something bad "
B."lam bored "

C. "l approve that "
D."Iforgottodoit"

Wdle p pall alel mlia¥l Bl agg oo o culiatly yallazl!
"Jlad by adil" Jsd Jslai of (Ses Ay

25) Shrugging the shoulders is a visual sign that could be equivalent

A. | disapprove it
B. I dislike it

C. ldon't know
D. | forgottodoit

2l 055 O (Ses Buipe Badle g paaSll elpms o]
Qe ¥ G

26) Slapping your forehead with the palm of your hand is a visual sign that could be

equivalent to saying.
A."lam sleepy "

B. "l forgot"

C. "I smell something"
D. "l don't know"

0544337029 lkaile el

Jsd Jalal O oSy Bapsas e 5 Ly B>y 1o it piso

"o " - Biu
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Lecture 2G50 5 s Lxel

1) what is the semantic /lexical relation between shallow and deep

A. Synonymy
B. Prototype

C. Hyponymy
D. Antonymy

by el o 2daalll / AV WMadl 2 Lo
Ol alsagdt

2) This can be defined as "two or more forms with very closely related meaning, which
are often interchangeable in sentences."What is it?

A. polysemy

B. Hyponymy
C. Synonymy
D. Antonymy

oetds Lo T3S « ylate Ao 93 @las Led ST 5l Gladgas” il e Iia Cisyal Sy
S8 pad? Slia Lo "ozl § Jaokeild ALlE 0585 L T2 a1y Lasls

3) What is the semantic / lexical relation between taxi / cap?

A. Synonymy
B. Hyponymy
C. Homonymy
D. Homophony

§ ouSL/ Byl Byl o daalll / Ad¥| 48Nl 2 L

Ola gyl

4) What is the semantic / lexical relation between buy and purchase?

A. Synonymy
B. Hyponymy
C. Homonymy
D. Homophony

§ gLl / ey o Audaalll / 2 ¥l A5dall 2 Lo
Ola gyl

5) My father is 75 years old. | can change "my father" into the synonym "my dad " if |

want to sound ...
A. impolite

B. more formal
C. very polite

D. less formal

QqﬁlSjﬂgT';ﬁaba‘J!"éJJb"JgjdqﬁSke.ﬁLc75 o glly

ey S8 g o

6) "My father purchased a large automobile" | can change the sentence into "my dad
bought a big car " if | want to sound ...

A. more formal
B. less formal
C. very polite
D. impolite

0544337029 lkaile el

Bylise AR " I el i i "Aadesis Bylese g AR gully "

ety JBI gy of )i 13] "8
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7) My father 40 years old “l can change “my father “into the "synonym “my dad

A. in formality
B. polite

C. impolite

D. none

‘3 gi" ol "I é.\.”j " ds ‘?.s.w " Lle 40 opoc é.\.ﬂg
Ol iy

8) Identify the pair of non-gradable antonyms among the followings

A. rich and poor

B. dress and undress
C. male and female
D. quick and slow

ok Lo ow ol abld e Slabiaill (e z 93l pus
gy

9) the type of Anatomy, the negative of one member of the pair does inded imply that

other

A. non-gradable
B. gradable

C. reversives

D. synonyms

Lot e goain ¥ 3301 1 oo ol inad bl + bl o £ 9
G Jald il

10) Identify the pair of non -gradable antonyms among the followings

A. dead and alive
B. pack and unpack
C. rich and poor

D. quick and slow

b Lo O peetinll ALl clsbaall e 795 e Byl
Slextt U8 log Coe

11) One type of antonym is called reversive. Which among the following considered

an example of reversive?
A. fair and unfair

B. safe and unsafe

C. happy and unhappy

D. tie and untie

SelusSlaall e Yiie pias b Lo o o -ouSlate o Slsbiaill g sl 8
239 layy

12) Reversive is one type of antonym. Which among the following examples is

reversive?

A. happy and unhappy
B. pack and unpack

C. safe and unsafe

D. fair and unfair

0544337029 lkaile el

S uSLaia 2l AL o 50 -zl (yo il g5 58 Slaie
ASa3g dajo
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13) Identify the reversive Antonymy among the following pairs

A. friendly and unfriendly
B. safe and unsafe

C. pack and unpack
D. fair and unfair

LA 21531 o (SLaSLarll) uSall stz (e o pal
S22y ey

14) One type of antonyms is called reversions. Which among the followings is

example of reversions?
A. happy and unhappy
B. dress and undress

C. safe and unsafe

D. fair and unfair

foluSlall e Jle b Lo om0 OlausSlail | oun Slsbiaill (e uslg god
(Do ) s / (nansdle ) und

15) The meaning of a word can be included under another word , in the case of

. Polysemy

. Synonymy
. Hyponymy
. Antonymy

o @ >

U G gl kS coms AlS G (rens Sy
lgaiog relsall Gy (A8 al!

16) what is the semantic/lexical relation between tulip and flower?

. Synonymy

. Homophony
. Hyponymy

. Homonymy

o6 @ >

Srsaplls seliaedl o Adaalll / AWl A8Mall 2 L
lgaiog relsall Gy (A8)al!

17) What is semantic/lexical relation between dog and animals?

. Synonymy

. prototype

. Hyponymy

. Collocations

o0 © >

Sl gumtly I o 2laalll / A0 23Mall L
2oy ralsall oy (A8t

18) What is the semantic / lexical relation between carrot and vegetables?

A. Homonymy
B. Synonymy
C. Homophony
D. Hyponymy

0544337029 lkaile el

§ ol gpaielly 3adl o audaslll / AW 4Bl & Lo
lgaiog relsalt Gy (A8)alf
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19) What is the semantic\lexical relation between banana and fruit?
g" ;vaonvmv SASLally ol o Adaalll / Ad¥al) ABMlall (2 Lo
. Synonym -
ynonymy gty (ralall G (RBMall
C. Homophony
D. Homonymy

20) which of these example is Co-hyponym ?
. shoot/stab

. shoot/blood Salall /5L @M § Ll Cavall sa Wil sda (e G

. cut/knife
. cut/dog

OO W|>

21) When we have two different written words that have the same... pronunciation,
we can refer to them as

A. Homonyms  Bladdl s Legd crtiliien oaiugiSe aielS Ll (5955 Lootie

B. Homophones AL Le) 5,La)! LSy
C. Polysemous —

D. Synonyms

22) They are two or more different written forms that have the same pronunciation.
What are they?
A. Homophones
B. Homonyms
C. Polysemous
D. Hyponyms

Spa Lo gladdl uas LY @) dalisell 2SI JEAT o0 AST of LSI pa
oy i ]

23) How would you define two or more different written words that have the same
pronunciation?
A. Homophones
B. Homonyms
C. Polysemous
D. Collocation

Lalisell 4gasll SIS oo AST of Catdl iy SliSlay S
ALLCH Sahadll puds LS &)

24) on of the lexical relation type is Homophony, the definition is :

A. two or more same written forms
have the different pronunciation
B. two or more different written

i90 caspadll o @2l 9o dpexall AMall gos o
Gl (uad Igt AaliBeatt pulisatt Jisadi je y3sai of G

form have same pronunciation

0544337029 ,Sladle jrets [1Q a3 53 g8 .3 o ledy g Silaell ale

620LEEYYSO

<oy yxren e



(2 1437 ) Jo¥1 Juasll (21436) S Juaddl CAPPSIN |

(»1439) Sl Juasll (2 1438) Sl Jadll (2 1437) G Juasll
25) let's meet the meat What is the lexical relation between "meet and meat"
A. Synonymy "asxlly sLAUI” (o Acamall &Ml (2 L pomllly AL Lics
B. Hyponymy oSt
C. Homonymy

D. Homophony

26) The word bank (the side of a river) and bank (the financial institute) are
recognized as...
A. Synonymy
B. Homophony
C. Polysemy
D. Homonymy

O unS Le Bina (UL el ) clilly (el ile) 2liadl el

27) The word race (as in the act of running competitively) and race ( as in people

belonging in the same ethnic group) are recognized....... as

g\- EV”O”V:‘V 38 1aS) Sl (udlial] 25 § JLadl 5 LeS) ol 26 de oyl
- lomophony s (Bipall A gamll udi ) Gy ol palis¥l § Jldl

C. Polysemy .

it

D. Homonymy

28) What is the semantic\lexical relation between (he bet the flying bat used his big

golf bat)

A. Hyponymy Byillall Gzl e ol o) o &daalll/ 2030l 28Mall (2 Le
B. Synonymy o el (calganll STl dayinn putieing
C. polysemy

D. Homonymy

29) What is the semantic\lexical relation between race (the contest of speed) and

race (the ethnic group)?
A. Hyponymy o9 (el | Aaylue) (uy cor Audaalll / 20901 28301 2 L
B. Synonymy ol §(38 ! Ae gl

C. Homophony
D. Homonymy

30) The word mole (on the skin) and mole (the animal) are examples of ......

A. synonymous words e alial (2 (Ol gedl) aaladly (aladl o) Rolidl 2alS
B. Antonymous words cdilaie Olelsn
C. Homonymous words

D. Polysemous words
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31) The word mole (that appears on skin) and mole (the animal) are recognized as ...
A. Synonymy
B. Homonymy Laladly (alad) e ylas @1) Ralidl 2l e byaall o3y
C. Homophony ol Lal e (o guzdl)
D. Polysemy

32) What is the semantic\lexical relation between (I running in my apartment

because | heard a running water)

A. Hyponymy (Gl sle Canw ¥ qad § paS)l L) o adaalll / ad¥all 2a3Mall 2 L
B. Synonymy laall 2ua3
C. polysemy

D. Homonymy

33) What is the lexical relation between arm (of a person) and arm (of a chair)

A. Hyponymy (xS ) g1yl (o oe) gyl o il Z3Skall o Lo
B. Synonymy oilaatt a3
C. polysemy y

D. Homonymy

34) “The chair of the English department is seeking a bilingual assistant” What does
“chair” in this sentence involve ?

620LEEYYSO

<oy yxren e

A. Hyponymy sty 15k "Bl LS el oo omg Boplms¥ Al oud sy 0"
B. Synonymy Plaall duad Salontl sia §"gu)S"
C. Homonymy _

D. Polysemy

35) "The head of the company needs a new secretary” What does this sentence
contains?
A. Hyponymy
B. Synonymy
C. Homophony
D. Polysemy

Silozl sda crosas [3Le "ok 5,5 I ASpA1 sy g limy”
Plnedl duad

36) IRAQI HEAD SEEKS ARMS" What does this newspaper "headline contain?
A. Hyponymy
B. Homonymy

C. Polysemy
D. Synonymy

digmiall sia olgie L Pl ity Jlyadl us)ll
laalt auad
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Lecture 3 315 s lowett

1) What do you say about this sentence? "The horse ate the pizza "

A. It is syntactically odd but semantically good
B. It is both syntactically and semantically good
C. It is syntactically good but semantically odd.
D. It is both syntactically and semantically odd

"l JST oland!” Salezdl sda oo Jads I3le
g Agalll Goe L (e 5 163)
nagiaed! oLl (e a8

2) What do you say about this sentence? "The horse is reading the poetry book "

3)

4)

5)

6)

0544337029 Slasle reds

A. It is syntactically odd but semantically good
B. It is both syntactically and semantically good
C. It is syntactically good but semantically odd.
D. It is both syntactically and semantically odd

" i) OlS Tyd olesdl" § dleztl s oo Jgds 13k
Wi gy Aagalll G L (e 5 163)
Aagizalt o L e

What is your opinion about this sentence? "The table ate the sandwich."

A. It is syntactically good, but semantically odd.
B. It is syntactically odd, but semantically good.
C. It is both syntactically and semantically odd.
D. It is both syntactically and semantically good.

"l il ST AIolall” § dlezell sia oo Jods 13k
Wil ISty Agdllt oo L (e 5 163
Aagizalt o L e

What is your opinion about this sentence: " My horse is reading newspaper" ?

A. It is syntactically good but semantically odd
B. It is syntactically odd but semantically good
C. It is both syntactically and semantically odd
D. It is both syntactically and semantically good

"Byl hdy Slas” S alenll sda e Jads I3k
Wil sty Agdltt oo L (e 5 163
Magiaalt o L e

What are semantic features required for the subject of this sentence .......... To go

with her son to Italian restaurant

A. [+Human, -Female, +Adult ]
B. [+Human, +Female, +Adult]
C. [+Human, -Female, -Adult]
D. [-Human, -Female, +Adult]

dI Ll pe oladl

......... Aol 0da paungh Liglall AV lll A Lo

JUa¥! palall
L=+ G200 +¢ pad o+ ]

What are semantic features required for the subject of this sentence

.......... will travel with Sarah to France for their honey moon"

A. [+Human, -Female, +Adult ]
B. [+Human, +Female, +Adult]
C. [+Human, -Female, -Adult]
D. [-Human, -Female, +Adult]

2 Aol 50 paingl Ausllall AVl Eleadl A L
"l el Jof e Ludyd I Byl pe
=3 +0 G200 -¢ st o+ ]

[13
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7) What are the semantic features required for the subject of the

8)

9)

A. [+Animate, + Human, - Female, + Adult]
B. [+Animate, + Human, + Female, +Adult]
C. [+Animate, + Human, - Female, -Adult]
D. [+Animate, - Human, - Female, +Adult]

........... is about to give birth to her second child this month "

.......... " oaimsl Augllall RV Sled! 2 Lo
bl T G Llils s of by e
[+ G0 +¢ pdud) Go +¢ Sloaidi+ "]

What are the semantic features required forthe subject of this sentence? " .......... is

traveling with his wife to London this week."
A. [+Animate, + Human, +Female, +Adult]

B. [+Animate, + Human, -Female, -Adult]

C. [+Animate, +Human, -Female, +Adult]

D. [+Animate, -Human, -Female, +Adult]

........... " Salenl n pousl Augllall AVl clewdl Lo
" gl 1da oud I diz 95 ge ol
= +¢ G0 - ¢ pdudt G +¢ Olguddt+ "]

What are the semantic lectures required for the subject of the " sentences "....... is

going to marry Sarah this Friday

A. [+Animate, + Human, + Female, + Adult]
B. [+Animate, + Human, - Female, - Adult]
C. [+Animate, + Human, - Female, + Adult]
D. [+Animate, + Human, + Female, - Adult]

Salondl sia posl Auslall LIV Sleudl 2 Lo
", Azl sl 8yl o - POV "

[s=a +¢ S0 -¢ pdudt G +¢ Olglddi+ "]
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Lecture 4 aasi y31 5 o lomadt

1) What is the thematic role that can be defined as the entity that performs an action?

A. The agent
B. The theme

C. The location

§ Jeall dity i QLS dily dinyal San sl relshl 5ol 5o Lo

JeLatl

D. The goal

2) What is the thematic role for the noun phrase "Sami" ? " Sami played a short song

with the guitar in her school"
A. theme
B. experiencer

C. agent
D. instrumental

§" ol Al Byleall aalsll 5l 5 Le
"Lgsyio @ 5Ll Buad 4l ol cual”
delah

3) What is the thematic role for the noun phrase "Anna" ?
" Anna played a short song with the piano in her school"

A. theme
B. experiencer

C. agent
D. instrumental

L1 daw¥ Bylall aeslsll Houdl 5o L
"Lesya @ 93leills Bpuad el Gl coad”
delah

4) what is the thematic role that can be defined as the entity undergoing an action or

movement

A. the goal
B. The experience
C. The theme

o2 @I OLSTI il ddnyad (Sas ) Al 59l 52 Le
4 Joaba iS)> of <2l

D. The location

5) What is the thematic role for the noun phrase " a short song " ? " Sami played

a short song with the guitar in her school"
A. theme

B. experiencer

C. agent

D. instrumental

0544337029 Slasle reds [13

"B puad 4iel” dau¥l Bjlall auslsll Houdl 92 Le
"Leaye @ 5Ll Bauad a2l el cual

43 Joaae
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6) What is the thematic role for the noun phrase "a poor man" in the sentence?
“On her way to work , Sally saw a poor man sitting on the sidewalk “

A. goal

B. theme

C. experiencer
D. agent

7) " Sami wrote the poem with an
What is thematic for the poem?
A. goal
B. theme
C. source
D. instrument

8) " On her way to school. Mary sa

Silosll 3" 58 Jony” el Byleall sl 55l ga Lo
"oyl e Ll 15333 Slary Jloo corals .« Jaadl J) Ldnylo 3"
43 Joaae

ice of chalk"

" adldall e e\ﬁ 2o buadll caS ¢Lwn
A J92e Shunill F£onge 5o Lo

w the cat over the tree"

what is the thematic role for the noun phrase " the cat"

A. experience
B. agent

C. goal

D. theme

" - Al éjﬁ akaall Lﬁ)LA Saald a-*“)'-"l‘ J! W"J‘b é""
SIIM‘“ BJL!-’-U M"‘U )3..\."5-5 Lﬂ

4y Jgaae

9) This character role can be defined as "the entity undergoing an action or

movement"...
A. The experiencer
B. The theme

"4y gl eyl pes g GLSII" Sl e Tda Aasddl jes chupad o Say"”
4y Jgaae

C. The location
D. The goal

10) What defined as "the (entry)
A. The instrument
B. The experiencer
C. The source
D. The agent

11) Which of the following sente

A. The boy cut the rope with a razor

that is used to perform an action"'?

§("Jad dpdin) doluieinel miy gall) JLaa¥1" 5 sgeaill Lo
31a%

nces has the thematic role "Instrument"?

B. The boy felt happy

C. The boy saw the rope on the floor

D. The boy returned the razor

0544337029 Slasle reds
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12) What is the thematic role for the noun phrase "her piano" ?
" Anna played a short song with the piano in her school"

A. goal Sl Holinll " giley” Syleall Aslshl soull 5a Lo
B. instrument "Ly (§ 9ibedl pe Spuad 2l Ul coal”
C. theme. 31280
D. experience

13) What is the thematic role for the noun phrase "Sally" in the sentence?
“On her way to work, Sally saw a cat sitting on the tree “

A. experiencer Salozell §"dlu” Apesa! Bleall acnlsll soull 52 Lo
B. agent "Bymddl el And Sl ciials . Jead! J) Ldsyb §"
C. theme PN {
D. source —

14) What is the thematic role for the noun phrase "Sally" in the sentence?
“ On her way to work , Sally saw a poor man sitting on the sidewalk “

A. experiencer Silosdl 3" Jlu” sl Byliall auslsll soull 52 L
B. agent "oyl e Ll 508 Sy Sl el ¢ Jead! ) Ldaybo 3"
C. theme el
D. source

15) " On her way to school. Mary saw the cat over the tree
What is the thematic role for the noun phrase "Mary "'?

A. agent "5ymddl 3gd Wil gle cials duyull Jf Ldsyb 8"
B. experiencer "Gl Byleall acnlsll seull 52 Lo
C. theme el
D. source

16) 'Saleh heard them talking out the money". What is the thematic role for Saleh

A. instrument 0 Faionll spall 2 Lo ") =
> . e Sy o
B. theme el Frsll gl 52 of kel

C. agent el
D. experience
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17) " On her way to school. Mary saw the cat over the tree "
what is the thematic role for the noun phrase "the tree"

A. location "Bymad! Ggd ahadll gHle mtals Akl Jf Ldsb 3"
B. goal 8y 1" Bylall Acalsll 5ol 98 Lo
C. §ource Slsaelt Qa8
D. instrument

18) What is the thematic role for the noun phrase "her school"?
" Anna played a short song with the piano in her school"

A. instrument § "Lgaayoha” ol Bylbeall apslskl 5ol 5o Lo
B. goal "Lpnayte 3 giled! e Spuad duisf Ll cual”
C. source oot oty
D. location ————

19) What is the thematic role for the noun phrase "the sidewalk" in the sentence?
“ On her way to work , Sally saw a poor man sitting on the sidewalk “
A. location
B. goal
C. source
D. instrument

§ el @ "o 1" danl Bylall s lsll 5l 9o L
"ipodl e Ldle 1338 Sy Jleo sl ¢ Jeall ) Loyl "
Ol ls

20) "Ahmed borrowed a stapler from the other office' What is the role for the NP

other office ;
A. agent SYINP CaSe 595 90 Lo " 131 Casll o dubs desi jlazal”
B. experiencer 3 el
C. theme
D. source

21) What is the thematic role for the noun phrase "work" in the sentence?
“On her way to work, Sally saw a cat sitting on the tree “

A. location Salezll 3 "deall” Zeaud¥l Bleall Acslsll 5ol 52 Lo
B. source "Symddl e pulees Aad Jlu csaals .« Jeadl J) Ldsl 3"
C. goal ‘ :A..‘;n
D. instrument
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22) What is the thematic role for the noun phrase "work" in the sentence?

“On her way to work , Sally saw a poor man sitting on the sidewalk “
A. location

B. source

C. goal
D. instrument

Salezl " el Zau¥l Byleall aslsll ol 52 L
"ol e Ll 18 Moy Jlao ciialds « Jeadl ) Laslo 8"
adgl!

23) " The golden medal in the race was given to Noura "

. . >
what is thematic role for Noura? 155 ole i Blad! § Apsadl ikl
A. instrument

$ogid s lsll seull 5o Lo
B. goal

At
C. them uet

D. experience

24) " On her way to school. Mary saw the cat over the tree "

Identify the semantic roles of the four noun phrases in What is the thematic role for
the noun phrase "school" ?

A. location Byl Gg3 Adll Glo Guald duoull JI Ldsls 3"
B. source sl 9l 98 Lo 3 Al el Sllaadl e 2V l95% e CByanll”
C. goal QU iyl ol Byleall
D. instrument —
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_Lecture 5 auweliel! 5 pslonel!
1) What can be defined as the gradual mental representation of meaning or
categorization ?
A. prototype
B. referring expression T Agedt
C. referent
D. inference

Sedgiail! ol Gaell gmpaill aall Jeteill &l e ddspad oSe gl Lo

2) It can be defined as the gradual mental representation of meaning or categorization. What is it?
A. reference

B. referent Slika L .casbatll 5f el gupanll aall Jetedll 4l e ddsyad oSos
C. prototype Taged!

D. referring expression

3) Among the following four birds which one is considered the lest typical of the whole set?

g. ;obikn SLeboS Ao gomall T 2350 S5 piad @1 AL 21 spadall Cr o0
. duc ad
3 f
C. pigeon ==
D. penguin

4) Among the following four kinds of tea, which one is considered the most typical of
the whole set?
A. strawberry tea AL Agazmll § o gud ASH piny unly ol « LA (o 21 Aan¥l § 1531 cr cra
B. Moroccan tea reil oLl
C. white tea
D. red tea

5) What is semantic/lexical relation between robin and bird?
A. Synonymy
B. prototype
C. Hyponymy
D. Collocations

Sagalally cpay o Audaalll / &Il 433l 2 Le
oy relsall Gy (A8 )all

6) Among the following four types of chairs, which one can be the most typical of the whole set?

A. bench
B. stall Aeganll o Aur3gad AST 09 O Ses a2y 6T+ @I e AU ¥ 1931 O 0
| i salels
C. arm chair
i ‘el y A9
D. message chair Oty Y iy
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Lecture 6 wwalud! 3 puoloeelt
1) Which among these sentences involves a secondary referring expression?

A. Your sister is pale
B. That one is pale
C. The big cat is pale
D. This rose is pale

¢ $93l e pad o Sokais Jomdl sda s (e
Gl g 100

2) Which among these sentences involves a secondary referring expression?

A. This little girl is fast
B. Your friend is fast

C. That one is fast

D. The big camel is fast

§ $93l da ppead e Sokaiy Jomdl o i (e
B 10D

3) Which among these sentences involves a secondary referring expression?

A. Your friend is white
B. That one is white
C. The big dog white
D. This flower is white

§ $93l ndue yad o gohaty Jezmdl sda (e

4) Which among these sentences involves a unique referent?

A. a lake

B. water

C. Lake Ontario
D. the big lake

Sleegs (a Byl dazga e Golais dodl oo o (0

93y L0391 8 o

5) The referring expression "Lake" is considered ...

A. a unique referent

B. a non-unique referent
C. a fixed referent

D. an abstract referent

33y s oy 30 Sy ALY pad iy

6) The referring expression "my uncle "is considered

A. an abstract referent

B. a unique referent

C. a non-unique referent
D. fixed referent

0544337029 Slasle reds
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10)

11)

12)

A. an abstract referent
B. a non-unique referent
C. a variable referent
D. a unique referent

A. a countable referent
B. a unique referent

C. a non -countable refer
D. an abstract referent

A. a countable referent
B. a unique referent

C. a non -countable refer
D. an abstract referent

it?

A. reference
B. prototype
C. referent
D. inference

example of people to refer is called

A. reference
B. prototype
C. referent

D. inference

7) The referring expression " the Arabian Gulf " is considered ......

ka5 layo " gyl gulall” o s s

8) The referring expression " cups of coffee " is consider

"Bod Olmid" QLo sadd! iay
A9 e a0

9) The referring expression " bottles of milk " is consider

RRUPLES [RENCITT-L) (FEPRY VP T
A9 e &0

It is understood as using names associated with things to refer to people. What is

S1ia Lo . oltll J 8,LaM sLd¥L dlaye slowd ploiiul 4l ageall oo

(AT (]

If is understood as using names associated with things to refer to people, or an

dI8,La 9‘:@&‘01—1 Ma.&.'t}n el fb'.\.‘a‘h«' &l P ﬁ'&"’-.”. o€ 13
4l go2ll Goup ! polied ¥l (e Jlie o o ¢ polieil

7 LY

"A waiter at a restaurant'’ Where is the customer salad sitting ? " the customer
salad " in utterance is best understood as

A. just a salad

B. Someone named Caesar

C. a customer

D. the restaurant manager

0544337029 Slasle reds

sl A L] s Jadi S Ll dabi B cnl” spalae 3 Jobi ol

Jeteaso HISI Lia 3
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13) A waiter at a restaurant said: The tuna sandwich left without paying "The tuna
sandwich" in this utterance is best interpreted as
A. a customer
B. just a sandwich
C. the restaurant manager
D. money

&g g ads g5 Sy S Higtll Siligiine o spalae § Jabi JUB
Jee il e puds Jundl ga pISII ia

14) My mother taught me that the Key to success business is " being patience. " The
key here is basically

A. a concrete referent d 5o Lia plally " ally il o Joadl § 7Ll 7 lide Of (o Giade
B. a literal key 530w A pa o]

C. an abstract referent
D. a nonfigurative referent

15) Among the following are examples of concrete non countable referent have
numerous particles not worth counting .Which ones are they?

A. some coins and some pens 3 | e ossdl seuad elll e 2]
: diwd ¥ (A Sl (o 29 2 A vl o
. apple sauce and ink ) . 9

B
C. rice and sugar sty 1 s el gl < all
D

. furniture and jewelry

16) What did you learn about some food name such as "cow or pig in this course" ?

. That they occur only as parallel

sda @y ol Byay" Jie alalall el (s e Cealad 13k
. That could be concrete or abstract

Sgusai gloxdl Juol o 93k agdl 5§75 591

A
B
C. That they come from Anglo-Saxon origin
D. That they come from Noman French origin

17) Throughout the course, what did we say about food names such veal?

. That they occur only as plurals S dzmall md Jie plaladl slosed oo L3 13k « 591 Jlghe
. That they could be concrete or abstract a2l iley 93 ol o 93l agdi

A
B
C. That they come from Anglo-Saxon origin
D. That they come from Norman-French origin

18) Scissors, tweezers, trouser, shorts, and jeans are examples of nouns that

A. occur only as plurals ‘

B. could be concrete or abstract e kel p Fumlly - paldll dysla) - debli . Slballl s SLadll
C

D

. must have overt speciers Eod! duay Jadd ,glad Gl ol

. have fixed referents
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19) What would be example of sentences.......... continuous substances

A. apple sauce and ink
B. sand and rice

C. furniture and jewelry
D. some coins and pens

0544337029 Slasle jreds

Aatll olsll puoetly 7 i riabio ozt Jlie 098w 13k
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Lecture 7 jaasbudt 3 yuoloned!
1) Only one sentence among the flowing has a spatial deixis. which one

A. I'm busy now

B. you can't stay here
C. come back tomorrow
D. join me later

S0 unly g1 Ale 55LaI L b Lo o oo Jodd Busly Ales

Llﬁg:ﬂ%d‘ééalé&mqg’f

2) All these sentences have temporal deixis except for one. Which one is it?

A. Come back later

B. I'm busy now

C. You can eat over there

D. Please, join me tomorrow

Soa uxly gl il slidiuly duiej ByLal Lozl sda S
Ealia slakal Joli Enisae

3) Which sentence among the following has temporary deixis?

A. These boxes are broken
B. She can't stay near that
C. You should come back later.
D. Can you put it there, please?

§ &giaj Byl e goimi b Lo o ahex

G 3923 o ey

4) Only one sentence among the followings has a temporal deixis. Which one is it?

A. I'm busy now

B. You can't stay here

C. Put them near that

D. These boxes are heavy

S0 axly ol k) BLAT L b Lo o oo ad Busly 2o

S Joade

5) What can be defined as the subsequent reference to an already introduced entity?

A. Anaphora
B. Antecedent
C. Deixis

D. Prototype

Saally doguds o5 O J Amplall ;LAY i e dinyad oS il e

ubioe!

3

6) What among the following can be understood as reference to an already introduced

entity?

A. Deixis

B. Anaphora
C. Antecedent
D. Collocation

0544337029 Slasle reds

Sdadlly depuds @5 OS ) L) 4l (e (b Losd dagd oSy g1 Lo

ubiatt
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Lecture 8 Aielil! 3 pudlonel!
1) All these examples represent correct collocations except for

A. stick to the rules
B. a quick car

C. a quick glance

D. keep to the rules

;uﬁadngzgﬂ‘cfmgﬂ‘bﬁaslha%1aiagﬁ
Mamaane By Lo

2) All these examples represent correct collocation except for .....

A. a substantial meal
B. a big meal

C. a fast meal

D. a quick meal

odquﬂhuﬁCK*eg|dﬁiuﬂgcyz¢ﬂ|tpq#ﬁ|;ﬁa31&§ﬂaibgﬁ

3) What was Firth referring to by saying: "You shall know word by the company it

keeps"

A. Collocation

B. Anaphora

C. Deixis

D. Presupposition

syl Gayb (e Al s oof elide™ :Jgally Eipd ad) i oS e

Gulitialt g e " Las I

4) What is meant by the question " You shall know a word by the company it keeps "

A. Collocation
B. Anaphora
C. Deixis

D. preposition

e @1 228,01 Glo o6 R s 0 lale” Jliandly spumill 2 Le

Gulialt anht”

5) What is a pair or group of words that are often used together?

A. Synonym
B. Collocation
C. Antonym
D. Prototype

Sl peiud Lo uniéu‘CAASU‘&Q}&?A}iG}}”}A Lo

Gulillal! p et

6) Itis defined as "a pair or group of words that are often used together, such as, take

a picture. "What is it?
A. Deixis

B. Anaphora

C. Collocation

D. Presupposition

0544337029 Slasle reds

3 Lol sl oy 1 Ll (0 & gazma gl 795" 4 e ddupad oy
"B ygue blEdl Jie o B ol (e i

Gulidlel) praxitt
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7) which of the following is considered a fixed collocation and not an open one ?

A. Take a picture

B. Keep to the rules
C. Run a bath

D. place gently

§Ugide 10y purdy sl Lagezms yiay b Les
8y gu IaZH

8) Which of the followings is not an opened collocation (i.e it .....?

A. Run a bath

B. Take a picture
C. Keep the roles
D. Place gently

AT gas) Bgtie Blasl gl b Les
0y gue a3

9) Some collocation is considered fixed while others are considered open. Which of the
followings is commonly known as a fixed collocation?

A. Take a picture
B. Stick to the rules
C. on a bath

Gh Los gl gtin 5% paadl ey Loy Bl aaztd) (ay iy
8y g Jadah Soylill peezmid| el Bale Ayad

D. Gently

10) identify the only one collocation that is written correctly among ' the following

A. Did you look at TV last night?
B. Your car has a very strange engine

C. You must do an effort and study for the exam

D. You made a few mistakes

O e JSdy dliS cud g s ol aemill sus
el ¥l (Sa9 Cdad UG 4 L

11) Inregard to collocations all these examples are considered.... incorrectly written

...for
A. Did you look at TV last night?
B. Your car has a very strong engine

C. You must do an effort to study for the exam

D. You made a few mistakes

0544337029 Slasle reds [27

LgiSe ALYl oia puon siad ¢ iiopIl Glan Lo §
slai W (aay Cdad S20Y  dminio pé 2k
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Lecture 9 aawld! 5 palonelt

1) What a speaker assumes is true or known by a listener can be described as a...

2)

3)

4)

5)

6)

0544337029 Slasle reds

A. prototype

B. deixis

C. collocation

D. presupposition

What is one obvious presupposition in this
subscription to Sport magazine"?

A. That his subscription has expired

B. That Sport magazine is a cheap magazine
C. That he reads Sport magazine everyday
D. That renewing the subscription is easy

Jib e gy gl mamse aill aai sdiai of Sy Lo
R &b dioy (Say peind|

sentence: "Majed renewed his

3 4SIAAN sz wale” alentl sia § pislsll LolAY) 58 Le
RCPATN TP
Al Dlo gl U8 dsal 2l o

what is one obvious presupposition of speaker who says " your brother is waiting

outside?

A. that you are act for you brother

B. that you have a brother

C. that you need to leave with your brother
D. that you regret having a brother

Sl ales i Jady gl Sumiall mslell (olAdY) 5o L
i St Gl s ! 4

right now

what is one obvious presupposition of a speak "I regret buying a car"

A. That their care is old

B. That they did not buy the car
C. That they will sell the car

D. That they bought that car

"Byl el e psl LT Al A lsdl @lsl A8 il sa b
3y Lt Sl 19 il agdl

what is one obvious presupposition of a speak "l regret buying an apartment”

A. That their apartment is old

B. That they did not buy the apartment
C. That they will sell the apartment

D. That they bought that apartment

A lyd e poli BT Al dmnlgdl oilnlidY i ga Le
el Sl g il agdi

What is one obvious presupposition when the neighbor tells you "Your son is

annoying?

A. That you need to talk to your son
B. That he will hit your son
C. that you have a son

Spem il Hled) s Linie molsll Gl (21481 90 L
Lo St o

D. That you regret having son
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7) What is one obvious presupposition of a speaker who says: "l regret talking to
Tom"?
A. That he has a friend named Tom 2ol G :Jgdy g Sumiell dnsslgll SlalASY! usf 9o L

B. That he did not talk to Tom

ﬁgS &ﬁ S AN “:"".r}:s ) RARES | ‘_,Ls‘.

C. That he will fight with Tom
D. That he talked to Tom

8) What is one obvious presupposition of a speaker who says:

"your sister is waiting outside"?
A. That you are late for your sister
B. That you have a sister

Jody gl Samiell Anslsll GlslAEY usi sa L
Cil St & S"pladl § lazis el

C. That you need to leave with your sister right now
D. That you regret having a sister
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Lecture 10 3 lilal 5 yudloxed!

1) If someone asks you " Can you pass the big spoon? " while eating at the dining hall,
this utterance is often interpreted as..

A. a question
B. direct speech
C. a nice request

acld 3 alalall Jolis oLl "8 STl ddalll s cliSey Ja" pads] Jlo 13
Joar s @i e wISIH fia punds oy Lo Ldlis  alakall

D. an interrogation

2) If someone asks you " Can you pass the hot sauce? " while eating at the dining hall,
this utterance is often interpreted as..

A. a question

B ¢ alakall Jobis L1 "SB! Aabiall 5yed o Sisley Ja" pausi Jls 13
. da reques

il i e ASISI Tk ands oy Lo Gllas « plalall 2el5 §

C. adirect speech
D. an interrogation

3) If someone asks you " Can you pass the ketchup "while sitting on the dining table
this utterance is often interpreted as

A. question
B. direct speech alalall Aglls e ugleed! slisl " Bpabiall 5pes of iy Ja" padst Jla 13)
C. request s & e ST a3 o3 Lo LILa .

D. an interrogation

4) If someone asks you "Can you pass the salt and paper?"
while sitting on the dining table, this utterance is often interpreted as

A. a question

) Uolbs e Luglml il "S 335015 lll o ped liSay Ja" paisi Jlu 13
B. a direct speech - o5l gl el =

wdbs & M 1 55 oo Lo WILE « alalatl
C. a request Lo 4l e ISl e s oy Lo LLE

D. an interrogation

5) Negative politeness is about respecting the negative face of other. An example of

thatis ....
A. Apologizing
B. thanking

s e Jlie 350 bl damgll aliml Blats abudl ol
3 e N

C. paying compliments
D. indicating friendliness
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6)

7)

8)

9)

10)

Imagine that an old man stops you on the street and asks you, "Do you have a watch?

"What is the locutionary force in this scene? | |, "sacl, sbut Ja™ el golidl § ladgy Lo Sy 0 Juis
A. The utterance that he actually said. Sugdd! ia § 2adl i 55all p

B. The intended meaning he had. ASall AF Cdend I Olelal) 7 G
C. The effect achieved by his utterance.

D. The production of words that made up his utterance.

Imagine that an old man stops you on the street and asks you,
"Do you have a watch? "What is the illocutionary force in this scene?

A. The utterance that he actually said. L "Saebu bl Ja" relilusg golad! § eladgs L oy o Juis
B. The intended meaning he had. At dguabalt imalt Suidl lia § dadlull 54all 2

C. The effect achieved by his utterance.
D. The production of words that made up his utterance

Imaging that you enter the classroom and your professor, who want you to close the
door behind you , said " You left the door open " What is the locutionary force in
this scene ?

A. The intended meaning, he had

B. The effect achieved by the utterance
C. The utterance that he actually said
D. The production of words that made up his utterance

Ol sy 1 3ty galyd] Jhaddl I J5us bl ygeatl]
bedll A Lo "Brgiie wldl oSy wal” JB .« clils U 3l

AL Sl d N Oleladt 7 L) S sdl 1ia § aadlll

Each of the following utterance contains a speech act except for one. Which one is

it?

A. | bet you 30S he will not show up

B. I''ll meet you at 5 o'clock at the library
C. I'm sorry | said that to you

éi g ¢l f»yls.n Jad e du." fbMS." oo IS Sy
S92 x|y
OO 293 S Syl Ly LISl LB alatall Jy LG

D. | eat at the new cafeteria every Monday

Each of the following sentence contain a speech act except for one . Which one is

it?

A. | bet your 530 he with

B. I will meet you at five clocks at the library
C. lam sorry | said that to you

D. | teach at the new high school

slidisoly aMIS Jad e AW Jozdl (0 &lox S (gt
A9 sy el (8 4y AT € 50 unlg gl uml
3yt
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11) Each of the following utterances contains a speech act except for one. Which one

is it?

A. | bet you 50 riyals he will not show up.
B. I'll meet you at 8:30 at the library.

C. I'm sorry | said that to you.

Gl ol el aYSII Jad e JUd wISI cpa S (S5ms
Sj.lb ..\.>|3
NUNTS (RN s pyve i

D. | work at the new bank.

12) The dentist said : "My eleven-thirty canceled so | had an early
lunch ". Eleven-thirty in this utterance is best interpreted as ..

A. a patient - : —— .
B. a watch ry wdsla = Lo 05-"*.345‘5.)-@& . u‘J'M—‘ :ou-w»ia.u&b Jus
C. a doctor dzy Jiadl e ST 1ia § Copde Jiadl puds miy "8)Sue slud
D. a break » 9
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Lecture 11 ,die Agalxt! 5 o lonelt

1) In the field of linguistics, politeness is mainly related to the concept of ......

A. self

B. face

C. feeling

D. tactfulness

Aol pgdor oty Sy cde@ll ladip « Slaludll Jlrme §

2) holding down a thumb from closed fist is a visual sign could be equivalent to saying

B. | approve it
C.it's good
D. I smell something

O Apaay ByLAJ (2 Aalie Band (e pledl Jlua
Veas L1 LJd Jalas ol

3) Sally : how did you do in test of license ? S paus il sl § cudad S s Jla
Adam: | think that I'll never get the driving license Baledll Lasy e hast o il adzel spol

A. that she will fail in the exam

B. that he didn't do well in the driver exam

Gt Gloxtiel B uae JEalhy Jaly at 43

4) Only one of the following expression is considered a face saving act. Which one is it?

A.1'm sorry to bother you
B. I know you 're busy, but
C. Let's do this together
D. You need to

0544337029 Slasle reds

@sm%ﬁws)whﬁ@w‘aw‘»iﬁ
S9a uxlg gSi .592>g!
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Lecture 12 ,die A Ol 5 o loxell

1) Determine the only spatial metaphor among the following sentence

A. He shot down all of my arguments
B. He is planting ideas in my head

C. He is feeling down today

D. He is living on borrow time

A Al s B ol ALY 5Ll s
Aed! (aladily yadi

2) Which among the followings contains a spatial metaphor?

3)

4)

5)

6)

0544337029 Slasle jreds

A. He shot down all of my arguments
B. He is living on borrowed time

C. He is planting ideas in my head

D. He is in high spirits

TauiSa Bylaiwl e $oim b Lo (0 0
nwdle agiae Wl (2 90

Only one of these sentences contains an idiom. Which one is it?
A. | need to hit the book early tonight

B. | broke the foot of the bed
C. | wasted my time on this
D. | saw the water running

0 S50 ualy g1 auols el e Jazdl oda (o Jadd Susly $eixs
Al ,Sae Gy B WS Qs I ey

Only one of these sentences contains an idiom. Which one is it?

A. | need to hit the sack early tonight

B. | broke the foot of the bed
C. I wasted my time on this
D. | saw the water running

0§50 unly g1 auols el e Jozdl oda (o Jad Susly ggixs
el s Sy (A sl s () A by

which one of these sentences contains an idiom. Which one is it?
A. | decided to hit the sack early tonight

B. | broke the foot of the bed
C. I wasted my time on this
D. | saw the water running

Gy 28 40 usly éi.l*aLiJ@L*3g49 Jozdl sda (e Ladd Busly geizs

Al S Sdg (B puEal) Wl G

Determine the only spatial metaphor among the following sentence

A. He shot down all of my arguments
B. He is planting ideas in my head

C. He is feeling down today

D. He is living on borrow time

A Al o B oIl ALY 5ylaias¥l s>
Al (oladeily yaiiy
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7) What is the expression that cannot be understood only from its string of words
A. A metaphor

B. An idiom Lol alilis 0 add dagd oS ¥ g gl 50 Lo
C. A collocation o Betl polad

D. An Anaphora

8) v is an expression whose meaning cannot be derived directly from the string
of words that make up that expression.What is it?
A. A metaphor
B. An idiom Wl oy Bydils sline BlaLd! Sas ¥ pad 9o et gl
. Soa Lo panll 1dn JS25 &I Lo

C. A collocation
D. An Anaphora

9) Only one of the following examples is considered a well-written an idiom. Which
one is it?

A. fly of the handles 9wy gl JSCi 293 Bylee AW ALY (0 Jadd usly ptay
B. kick the buckets BV [T

C. spilled the beans
D. blow one's tops

10) Which among the following is considered a well-written idiom

A. fly of the handles
B. spilled the beans rull LS e [ B9 Bl G Lo o in )

C. kick the buckets
D. blow one's tops
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Lecture 13 ,die AL 5 s loxad!

1) One of the Gricean maxims is maxim of manner . which of the following explains it ?

A. Make your contributions informative as is require
B. Do not say that which you believe to be false

C. Berelevant

D. Be clear, brief and orderly

Hobadl Zulsh 9o Gusye Calgd oo ualy
Sell3 iy b oo gl
aldieg jagel sy G

2) By using the hedge "So, to cut a long story short awareness of

A. The Quality Maxim
B. The Quantity Maxim
C. The Relation Maxim

oIl Sl Hadll jadl . A" blall aMSIH plusialy

e Coilgd

D. The Manner Maxim

3) By using the hedge "sort of in "The book was sort of yellow"

which maxim does the speaker show awareness of?

A. The Quality Maxim

B. The Quantity Maxim ol Bruad il padl .« Uil bllall wMSIH alusiwly

C. The Relation Maxim

Wt Cailgd

D. The Manner Maxim

4) Adam saw his sister leaving the house, so he where are you going?

She said :"Out ! "
What maxim does the sister out in this conversation?

A. The maxim of Quality
B. The maxim of Quantity
C. The maxim of Relation
D. The maxim of Manner

e Colgd Stialell oda § col culi e

‘ J}Q‘):Lﬁ gﬁj PIEY ‘a.bi éi)
"y e dlE Seaald ol uld

5) By starting an utterance with "To make a long story short '

the speaker is being aware of the maxim of .......

A. Quality
B. Quantity

C. Relation

e byl Aligle Luad Jant" ge aUSIH G sidl S5 o0

el Wgia elyuy Szl

D. Manner
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6) Mom: Have you done your homework and cleaned your room?

Son: I've done my homework

What maxim does the son flout /violate in this conversation?

A. The Maxim of Relation
B. The Maxim of Quality
C. The Maxim of Manner
D. The Maxim of Quantity

Selid e cadaisy clinls 1ol ced Ja :Mom
Bl il cdad il
nteo Colgd okl sda @ onYl dxidy gl Lakll g2 L

7) Father to daughter: Where are you going?

Daughter: Out

What maxim does the daughter flout in this conversation ?

A. The Maxim of Quality
B. The Maxim of Quantity
C. The Maxim of Relation
D. The Maxim of Manner

8) Mom: Have you done your homework

Seaald cal gl J oW JdI Y
G;Lszcgl
Ve Cailgn Sdslall sda @ oYl dxily gl laztl 50 L

Son: My bicycle is broken mom What

maxim does the son flout /violate in this conversation?

A. The Maxim of Relation
B. The Maxim of Quality
C. The Maxim of Quantity
D. The Maxim of Manner

4}'&‘ Slnlyg cdad Ja :gqi
L.',oi EJ}.ws.A @.‘»bé :QQY‘
B et Coafgd Saislmll sda § el / oY s ¥ uusie

9) Sarah to her friend: Do you want to go to the meeting tonight ?
The friend: | have an exam tomorrow
What maxim does the friend seem to violate in this conversation ?

A. The Maxim of Quality

B. The Maxim of Quantity
C. The Maxim of Relation
D. The Maxim of Manner

0544337029 Slasle reds

SN g LWl ) ol vy o sLgdsuisal
s leial g 1 Gasal
Addalt Sl gD Swislell sia g Sk éaJ#QJ‘OiQJHf‘éJJ‘)As1‘a
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10) Father to daughter at family dinner: Any news about the exams result?
Daughter: Ice-cream anyone?
What maxim does the daughter flout/violate in this conversation?

A. The Maxim of Quality

B. The Maxim of Quantity
C. The Maxim of Relation
D. The Maxim of Manner

SobilaiaYl dmds e Hlsl gl By slie § Al J)
S ot di ‘éi p..R)S ‘,,«.33’1 ey
wAdkatt Syl gD Saalall sda @ s/ Y 4 s gl ol il sa L

11) By starting an utterance with " Correct me if I'm wrong but...."
....... The speaker is being maxim of

A. Quality " STy lilasee S 13] oo BedS Glai § euddl S5 (e

B. Relation 39l culi ga @ISl ... ...
C. Quantity —

D. Manner

12) By starting an utterance with "As far as | know ..."the speaker is being aware of
the maxim of ...

A. Quality "o dyel Lo pudy" aMSTI G sudl NS e
B. Quantity Bagaxdl Wyda ey Somal
C. Relation
D. Manner

13) By starting an utterance with "As far as | know "the speaker is.. being aware of
A. The maxim of Quality
B. The maxim of Quantity Bagaft CQly' ga @l "dyel Lo judy” e pISII § el I35 0
C. The maxim of Relation
D. The maxim of Manner

14) By using the hedge "sort of in "The book was sort of yellow"
which maxim does the speaker show awareness of?
A. The Quality Maxim
B. The Quantity Maxim
C. The Relation Maxim
D. The Manner Maxim

"L g pasel lSI G " "Ialall AUSII" il
Baga)t Col s £l Giumill dg play il sl 98 L
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15) One of the Gricean maxims is maxim of quality. which of the following explains it ?

A. Make your contributions informative as is require
B. Do not say that which you believe to be false

C. Be relevant

D. Be clear, brief and orderly

b Lo éi.sq,qd‘;;ﬂjja Guasd J1s1 (e asl
LAl A3 AGTaT Le JET Y

Lecture 14 ,die a1 3 s loned!
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1) In 1894, in a paper entitled: “Reflected meanings: a point in semantics,” the term

“Semantics” was used to refer to:
a. meaning and its development.

d. the manipulation of language.

C. meaning in a particular context.

b. the science of meaning.

"IN ple 3 dladi AuSaill Glall":olgin 339 § - 1894 ale g
09ty (imalt: Jf AN "IV ele” pllaias poial ©

2) Which of the following statements is NOT correct when we compare sense and

reference?

a. Sense deals with relationships inside the language.
b. Reference deals with relationships between the language and the world.

c. The referent of an expression is an abstraction in the mind of language users.
d. Every meaningful expression has sense, but not necessarily reference.

SB).U} ook (ylas Levie Ao pf ASW) Slyleadl o ‘:;i
Al eddlue (A1 (853,000 5,508 98 jall) a0

3) In the collocation “blond hair”, the type of collocational restriction is:

a. based on meaning

b. based on range

c. based on reference

d. based on neither meaning

198 G! awdll g95 098y ¢ " padY padd)” peemll §
e geme W9 ime ¥ ulud Hle

nor range

4) How do the synonyms “gentleman/chap” differ?
a. Each belongs to different dialects.
b. Each belongs to different styles.

" adll / Jeidl Jo 1" lBall) calises ol
‘nalidee boladl () el J=

c. Each has different emotive or evaluative meanings.
d. They are both collocationally restricted to different environments.

5) Choose the type of antonymy found in the pair “ married/unmarried”.

a. binary antonymy
b. converses

c. relational opposites
d. gradable antonymy

0544337029 Slasle jreds
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6) Which of the following is an example of homonymy?

a. earth (our planet vs. soil)

b. bank (financial institution vs. the side of a river)

c. tail (of a coat vs. of an animal)
d. fork (in a road vs. instrument for eating)

S puilmtl] e Jlie b Loa g
(61 il Sl (ratle raswhe) Sy

7) ‘I promise to stop doing that.” What is the type of the speech act in this utterance?

a. constative
b. explicit performative
c. implicit performative

TaAMSI 1da @ STl §o5 9o Lo "ll3 Jud e aBeully eluci”

&ﬂa ;‘Ai

d. neither constative nor performative

8) What is the speech act that is not always intended by the speaker?

a. locutionary act
b. illocutionary act

c. perlocutionary act
d. commissive act

Slosls ISl eiady ¥ U1 AMSTI Jad g2 Lo
Aty adll (a2

9) ‘I swear to be there promptly.” What is the type of illocution in this utterance?

a. direct directive illocution

b. indirect directive illocution
c. direct commiissive illocution

d. indirect commissive illocution

& ASI ¢ gus (y 95 5 Lo " s9adl e Ilia 0sST o puidl”

).Z'Zalgmﬂ B it ¢ guw ?{:MSJ‘ BV

10) If a speaker is NOT being ‘ truthful’ when engaged in a conversation, which

Maxim of Grice is he violating?

a. The Maxim of Quantity
b. The Maxim of Quality
c. The Maxim of Relation
d. The Maxim of Manner

iy Jed « Bolma § ASHLa e "Bols" Eumill (S5 o 13)

3a92eM Cold S s ol

35819 LOUN B Mty G| asaly LI Al Jlud alisdl 2y

e ALl TBly ATl le AL ) ey

S | 0544337029
https://t.me/Mol3ksate

tJ

@ Mol3ksate
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